MDH?* %%

75 BYHER BT mindman

Hir

L MDHB, MDHD
SHEE T 9 (mm) 40, 50, 63 | 80,100, 125, 150
it (mm) | 50, 100, 150, 200, 250, 300, 350, 400, 450, 500
TR 4 (mm) Max.1500 | Max.1900
TAEBLES I 2 AT U AR I
AN =N T i i
{5 i ) i (MPa 14 (140kgficm?)
FAEEHE (C) -10~+60

ALETHHE L

MDHB 2 ==
MDHD i 1 Sy

ST -
1 — MDHB — 50 — N — 100 — LB — Y

¥ & 40~1007] 5T % ke X3 T > 18 /7 70kgfflem? 5 140kgf/cm®

I |
—

[SFE 17#2
B
BEAE
R il i 2 187
) H : iz i
s MDHB N
I
MDHD
BhEI M E
S FH AR B e A
Rk e |
— T = W/O
Vempy | ANCTHEE | BHERERMH | e
1 NBR Nitrile rubber O O X O
PU Polyurethone rubber @) X X A
3 | VITON Fluoro elastomer @) X @) O

fiiit: O uFFMA X RAFFHA AFHEEMMEH

FA

FB

LA

LB

CA

CB

TC




MDH?¥* 8t 1

75 BY i ERET mindman
¥ I 41
*%ﬁﬁéﬂgfj‘*i AL : mm
[ARES 50 100 150 200 250 300 350 400 450 500
40 ° ° ° ° ° ° - - - -
$50 ° ° ° ° ° ° - - - -
$63 ° ° ° ° ° ° ° ° ° °
$80 ° ° ° ° ° ° ° ° ° °
6100 ° ° ° ° ° ° ° ° ° °
6125 ° ° ° ° ° ° ° ° ° °
6150 ° ° ° ° ° ° ° ° ° °
BE ¢ AT AT W (A2
L
1TRENAER BA7 : mm
1712 ~100 101~250 251~630 631~1000 1001~1600 1601~2000
+0.8 +1.0 +1.25 +1.4 +1.6 +1.8
A
0 0 0 0 0 0
Al 4B |
=
MEmHIFR | 47 : KN
AAS | WIS | SRR FEIFIE )] (MPa)
2
(mm) | (mm) (mm) 6 7 8 9 10 11 12 13 14
A 1256 7.54 8.79 10.05 11.30 12.56 13.82 15.07 16.33 17.58
40 | 620
B 942 5.65 6.59 7.54 8.48 9.42 10.36 11.30 12.25 13.19
d) 50 (b 25 A 1963 11.78 13.74 15.70 17.67 19.63 21.59 23.56 25.52 27.48
B 1472 8.83 10.30 11.78 13.25 14.72 16.19 17.66 19.14 20.61
d) 63 d) 35 A 3116 18.70 21.81 24.93 28.06 31.18 34.28 37.39 40.51 43.62
B 2154 12.92 15.08 17.23 19.39 21.54 23.69 25.85 28.00 30.16
d) 80 ¢40 A 5024 30.14 35.17 40.19 45.22 50.24 55.26 60.29 65.31 70.34
B 3768 22.61 26.38 30.14 33.91 37.68 41.45 42.22 48.98 52.75
d) 100 d) 50 A 7850 47.10 54.95 62.80 70.65 78.50 86.35 94.20 102.05 109.90
B 5887 35.32 41.21 47.10 52.98 58.87 64.76 70.64 76.53 82.42
d) 125 (b 60 A | 12266 73.60 85.86 98.13 110.39 122.66 134.93 147.19 159.46 171.72
B 9440 56.64 66.08 75.52 84.96 94 .40 103.84 113.28 122.72 132.16
d) 150 d) 80 A| 17662 105.97 123.63 141.30 158.96 176.62 194.28 211.94 229.61 247 .27
B 12638 75.83 88.47 101.10 113.74 126.38 139.02 151.66 164.29 176.93
THIERELH HE TR =
F: HIELH S (N)
F=PxA—f 7 " i
A: I (mm?)
f: JEEERH (N)



MDH?* Ai#ERE ¢ 40~ 150

75 BY i ERET mindman
EPEETHE /72X
MDHBSK:| MDHDSK:|
SHIEL P & L P &,
40 | MDHBSK40 - f}%5 No.13,14,15,16,17,18 40 | MDHDSK40 - @#5 No.10,11,12,13,14,15
50 | MDHBSK50 - f#% No.13,14,15,16,17,18 50 | MDHDSK50 - 4u#% No.10,11,12,13,14,15
63 | MDHBSKG3 - fu#% No.13,14,15,16,17,18 63 | MDHDSK63 - fu#% No.10,11,12,13,14,15
80 | MDHBSK80 - &#% No.13,14,15,16,17,18 80 | MDHDSK80 - fu#f No.10,11,12,13,14,15
100 | MDHBSK100 - @5 No.13,14,15,16,17,18 100 | MDHDSK100 - @#% No.10,11,12,13,14,15
125 | MDHBSK125 - fu#% No.13,14,15,16,17,18 125 | MDHDSK125 - 453% No.10,11,12,13,14,15
150 | MDHBSK150 - &#5 No.13,14,15,16,17,18 150 | MDHDSK150 - &% No.10,11,12,13,14,15

N

R ——-si8 —chl 1
I —— )

e E LT w55 E 4T w55 E 4T i
1 it 1|7 R EE RS 1
2 i 1|8 EEaE 1|4 HHEUEE 1
3 EEERE 1|9 16 1|15 AU 2
4 IR 1_]10 R 4|16 i O 2
5 TH L7 1 [11 58 9 B [ 8 [17 HIEORIER 1
6 W R 1_[12 i g |18 R 1

‘MDHD)

N

77777%}7777” ************* B - fﬁfﬁ,,,ﬁr,i,i@ 77777
B [ - 5]

%
e FLH o | B FLH o | B FULH it
1 i 5 2 | 6 3R 2 |11 VS 2
2 A 1|7 R 4 12 R UE R 2
3 o 1 | 8 W 8 |13 i SO 2
4 HELA S 1 9 15 8 14 1HZEORI B 1
5 R 2 |10 TR BERI I 2 |15 i P 1




MDH?* 5MBURSE 640~ 6150

5B HERET mindman

MD H B (@iﬂ*ﬂjéﬁ!) K P+

¢B FF EE EE

| |
{enls el |
©
| a
‘ [m]
RR w F NA H+17/2 NB
ZJ+{7HE BB
% A | B |BB DD E EE F |FF| H | K KK MM |NA|[NB| P |[RR| W | 2J
40 | 30 | 35 | 16 [M10x1.25] 65| PT1/4 | 11 | 11 | 60 | 60 [ M16x15] 20 | 36 | 26 | 84 | 45| 25 | 158
50 | 35 | 40 | 16 [M10x1.25] 75| PT3/8 | 13| 9 [ 60 | 66 [ M22x15| 25 | 42 [ 34 | 88| 52| 25 | 174
63| 40 | 50 | 18 [M12x15 | 90| PT3s | 15| 9 [ 65 | 73| mM30x15| 35 | 42 [ 34 | 93| 63| 30 | 186
80 | 45 | 55 | 18 [M16x15 [110 | PT1/2 | 18 | 7 | 65 | 79 [ M30x15| 40 | 46 [ 39 | 95| 80 | 30 | 198
#1000 50 | 65 | 25 [M18x15 [135 | PT1/2 | 20 | 7 | 74 | 95 | M40x2.0| 50 | 50 | 40 | 104 [ 102 | 40 | 224
125 60 | 75 | 30 [M22x15 [165 | PT3/4 | 25 | 7 | 74 [ 100 [ M4a8x2.0 60 | 58 [ 47 [ 112 [ 122 | 45 | 249
150 70 | 95 | 30 [M26%x1.5 [195 | PT3/4 | 30 | 7 | 90 [ 119 | M72x2.0| 80 | 58 | 48 [ 128 [ 148 | 50 | 276
CMDHD ) egressnz)
K ‘ P+{72 ‘
FF EE EE <B_B>
@ w oy W =
\ \ Q
LIDJ g § E 1B ] e I
ﬂ e —
w |F| NA H+ {752 NA | F
A ZM+2 X 174 A
ZZ+2 X {14
g A [ B | BB DD E EE F |FF| H | K KK MM|NA| P [RR| W | W |2z

(AL
640 [ 30 | 35 | 16 | M10Xx1.25] 65 | PT1/4 1 1
$50 | 35 | 40 | 16 | M10Xx1.25| 75 | PT 3/8 13
$63 | 40 | 50 | 18 | M12Xx1.5 | 90 | PT3/8 15
¢80 45 | 55 | 18 | M16x1.5 | 110 | PT1/2 18
$100[ 50 | 65 | 25 | M18x1.5 | 135 | PT1/2 20
$125 60 | 75 | 30 | M22Xx1.5 | 165 | PT 3/4 25
$150] 70 | 95 | 30 | M26Xx1.5 | 195 | PT 3/4 30

60 60 | M16x1.5| 20 | 36 84 | 45| 25 | 204 | 264
60 66 | M22X1.5 | 25 | 42 88 | 52 | 25 [ 220 | 290
65 73 | M30x1.5 | 35 | 42 93 | 63| 30 [239 ]| 319
65 79 | M30Xx1.5 | 40 | 46 95| 80 | 30 | 253 | 343
74 95 | M40X2.0 | 50 | 50 | 104 | 102 | 40 | 294 | 394
74 [ 109 | M48x2.0 | 60 | 58 | 112 [ 122 | 45 | 330 | 450
90 [ 119 | M72x2.0 | 80 | 58 | 128 [ 148 | 50 | 366 | 506

N[N~ [N|ofo|=




MDHD #ish&qliy 2286500 ¢ 40~ ¢ 150
75 BYJHh[EREL mindman

ik - “ |EF | FB |FF|MF| R | TF |UF| W | zF
T - $40 | 69| 11 | 11 | 11 | 46| 95|118| 25 | 179
B N i n #50 | 85| 11 | 9| 13| 58| 115]145] 25 [195
| ; #63 | 98| 14 | 9| 15| 65|132]165| 30 |209
j&% Eﬂ”@"**f S »80 |118] 18 | 7 [ 18| 87[155[190] 30 [ 223
@ T & D #100[ 150 22 | 7 | 20 [109]190]230] 40 | 254
G ) g $125]175] 24 | 7 [ 25 [130[224]272] 45 [ 285
LR W_| |MF . FF #150[ 210] 28 | 7 | 30 [155]270(320] 50 [ 316

EF ZF+ (i1 W |

S |LE| LH [SB|SS|ST|TS|XS|XwW|us
. . $40 | 70] 37.5] 11 | 96] 14 [ 95| 54]150[ 118
L2 i e 650 | 80| 45 | 11 |102] 17 | 115] 59| 161|145
[y 1 —-— -+ -— &} 663 | 95|50 | 14 |107| 19 [132| 66| 173|165
"o /._E ‘ A ¢80 [115] 60 | 18 | 111] 25 [155] 71]182[ 190

o3| % il il
| s ‘ o ssen T xsei ¢100[ 140 71 [ 22 |124] 27 [190] 85]209]230
us XW+ 712 \ $125(172] 85 | 24 [132] 32 [224| 99]231]272
‘ ¢150[ 200106 | 28 | 148] 37 [270]109] 257320

2 |AB| AE | AH | AL |AO| AT | R | SA| UA

h 640 | 11| 775 45(325] 13| 8| 46[219] 65
o 77777777”% 50 | 11 | 87.5] 50(32.5| 15| 8| 58[235| 75
e 63 | 14 [105 | 60([37 | 18 | 10| 65[|253| 90

i!:ér 80 | 18 [125 | 72[49 [ 20 [ 12 | 87]291] 110

AL 100| 22 [157.5] 8558 | 23 | 12 | 109|330 135

SA+{i12 | $125| 24 [192.5] 105 [68.5| 29 | 15 [ 130|377 165

¢ 150| 28 [222.5] 123 [74.5| 30 | 18 | 155| 415|195

BD ook
~w\|BD | TE [ TD | TL | TM | UM | ZC | ZJ
I 640 | 28 65| 20 | 20 69 | 109 |102 | 179
] 1 | D ¢$50 | 33 75| 25 | 25 85| 135 |110 | 195

Z H-ol— #,f,@,,,ﬁ $63 | 38 90 | 30 | 30 98 | 158 |119.5| 209

| ¢80 | 38 | 110 | 30 | 30 | 118 | 178 |126.5] 223
$100] 48 | 135 | 40 | 40 | 145 | 225 |147 | 254

$125| 58 | 165 | 50 | 50 | 175 | 275 |165 | 285

1D ZC+712/2
e Ziiie $150[ 73 | 195 | 60 | 63 | 205 | 331 [183 | 316




MDHB #ishiademy 223 B o 40~ ¢ 150

73 BYJHERET

ZT+17H2

I
T

|

ZT+{712

T
|

mindman
i |EF| FB [FF|MF| R | TF [UF | W | ZF
FF, 640 | 69| 11 | 11| 11| 46| 95|118| 25 | 158
‘ $50 | 85| 11 | 9| 13| 58| 115|145] 25 | 174
$63 | 98] 14 | 9| 15| 65[132]165] 30 | 186
80 [118] 18 | 7 [ 18 | 87[155]190] 30 | 198
|| #100[150| 22 | 7 | 20 [ 109|190 |230| 40 | 224
$125|175| 24 | 7 | 25 [ 130|224 | 272 45 | 249
#150[210] 28 | 7 | 30 [155|270]320] 50 | 276
ZF+{7H2
S |EF | FB | FF|MF| R | TF |UF | W | ZF
FF, %40 | 69| 11 | 11| 11| 46| 95| 118 25 | 169
1 50| 85| 11 | 9| 13| 58|115]145| 25 | 187
YT ee3 | 98| 14| 9| 15| 65[132]165( 30 | 201
7777777 | 80 [118] 18 | 7 [ 18| 87|155][190] 30 [ 216
#100[150] 22 | 7 | 20 [109|190]230] 40 | 244
1 ¢125[175| 24 | 7 | 25 [ 130|224 | 272 45 | 274
W e —« #150[210] 28 | 7 | 30 [155|270]320] 50 | 306
ZF+7f2
¢ CD -
2 |co| D | E|EW| L | T |W]|zT
T 640 | 16| 45| 65| 20 | 38| 11 | 25 | 196
$50 | 20 | 52| 75| 25 | 45| 13 | 25 | 219
- $63 | 25 | 63| 90| 30 | 54| 15 | 30 | 240
$80 | 30 | so[110| 35 | 71 18 | 30 | 269
#100| 40 [ 102 [135| 40 | 86| 20 | 40 | 310
A #125] 50 [ 122 [ 165 | 50 | 110 25 | 45 | 359
W_| $150| 60 | 148 | 195| 60 | 109 | 30 | 50 | 385
#CD
2 |co| E |EW|EY | L | T | W |zT
T 640 | 16 | 65 20| 50| 38 11 | 25 | 196
$50 | 20 | 75| 25 | 57| 45| 13 | 25 | 219
- $63 | 25 | 90| 30 | 70| 54| 15 | 30 | 240
$80 | 30 [ 110 35 | 80| 71] 18 | 30 | 269
#100| 40 [ 135 40 [ 100| 86| 20 | 40 | 310
Tl 125 50 [ 165 | 50 | 126 | 110 | 25 | 45 | 359
LU $150| 60 [ 195 | 60 | 160 | 109 | 30 | 50 | 385




MDHB #ishiaem 223wk 40~ ¢ 150
75 BYJHh[EREL mindman

M | LE| LH [SB| sS |ST| TS | XS | XW | US
40 | 70] 375/ 11 ] 91 [14] 95| 54[145 | 118
50 | 80| 45 [11] 98 [17[115| 59[157 [145
L | 63| 95| 50 |14 (103 | 19[132] 66169 |165
$80 | 115] 60 |18 [107.5] 25 [155| 71[178.5] 190
T #100[ 140| 71 |22 [119 [27[190| 85[204 |230
| 0125 172] 85 |24 [127 | 32224 99]226 [272
$150] 200]106 |28 [143 | 37]270109]252 |320

f |AB| AE [AH| AL |AO| AT | R [SA|UA

T E $40 | 11| 775 45(32.5| 13 | 8| 46[198| 65
$50 | 11| 87.5| 50(32.5| 15| 8 | 58[214| 75
N I T agns $63 | 14 |105 | 60(37 | 18 | 10 | 65[230| 90
7 $80 | 18 |[125 | 72(49 | 20 | 12 | 87[266] 110
E‘II $100| 22 |[157.5| 85(58 | 23 | 12 | 109|300 135
pol_ $125| 24 |192.5/105(68.5| 29 | 15 | 130 341|165
SA+{FfE T ¢ 150( 28 |222.5(123|74.5| 30 | 18 | 155)| 375|195

€1C) o

> |BD|TE|TD|TL|TM | UM | ZC | ZJ
$40 | 28 | 65| 20 | 20 | 69 [ 109 [102 [ 158
$50 | 33 | 75| 25 | 25 | 85[ 135|110 [ 174

|

\

| $63 | 38 | 90| 30 [ 30 [ 98 158 [119.5] 186
E% - - t—- 1 — 1t $80 | 38 [ 110 | 30 [ 30 | 118 | 178 [126.5] 198

| $100| 48 | 135 | 40 | 40 [ 145 | 225 [147 | 224

|

|

TL

$125| 58 | 165 | 50 | 50 | 175 | 275 |165 | 249
$150] 73 | 195 | 60 | 63 | 205 | 331 |183 | 276

TL

ZC+{T12/2

TE ZJ+1718




MDH** #5440~ ¢ 150
75 BY i [ER ET mMindman

Y i=sa

450 cT ST
Fw my | % [cA{cc|cD|CF|CT[FW| KK |RA|RF
. Y-M16x1.5[ 40 | 50] 26| 16 | 35| 45[ 20 [ M16x1.5] 66] 24

— — Y-M22x1.5| 650 [ 60| 30 | 20 | 40| 50| 25 | M22x 1.5| 80| 30
- Y-M30x1.5|$63 [ 80| 40| 25| 50| 60| 30 | M30x 1.5|105| 40
‘ Y-M30x1.5|$80 [ 80 40 | 30 | 60| 65| 35 | M30Xx1.5|110| 40

\
B

I

|
¢ CD

cc

. 1 g ‘ Y-M40x 2.0| 6 100| 90| 50 | 40 | 80| 90| 40 | M40 x 2.0 |130] 40
S 3 < 1 Y-M48x 2.0| ¢ 125[110] 60 | 50 [100[100] 50 | M48x 2.0 |160] 50
\ } b Y-M72x 2.0| ¢ 150{130] 70 | 60 |120]120] 60 | M72x 2.0 |190] 60
| |
£ ipic]
myr | W cD cP cT
P1659 | ¢40 16 59 46
o P2066 | ¢50 20 66 51
P2576 | $63 25 76 61
cr P3081 | ¢80 30 81 66
P40114 | ¢ 100 40 114 91
(1] 1|3 P50124 | ¢ 125 50 124 101
- P60156 | ¢ 150 60 156 121
CF
45° my: | W4 |cAa|cc|cD|CF|FW| J | KK |RA|RF
FW
( | I-M16x1.5{640 | 55| 30 | 16 | 40| 20 | 8 | M16x15] 75| 20
‘ I-M22x1.5|650 | 65|35 | 20 | 50| 25 [10 | M22x1.5| 90| 25
N ° (T
= - I-M30 % 1.5{$ 63 | 80| 40 | 25 | 55| 30 [12.5] M30x1.5|110| 35
LIRS Al — 1 2¢ I-M30x1.5{6 80 | 90| 45 | 30 | 60| 35 [15 | M30x1.5|125| 35
3 \ I-M40 x 2.0 100[105| 55 | 40 | 80| 40 [20 | M40x2.0 [145| 40
I I
. == S B 1-M48 x 2.0| ¢ 125[120] 65 | 50 [100| 50 [30 | M48x2.0[170| 50
3 i < i I-M72 x 2.0| ¢ 150[140] 75 | 60 |120] 60 [30 | M72x 2.0 |200| 55
| HE
El E 1R 0E
H
ng | WO H KK sw
) N-M16x1.5] ¢40 13 M16x1.5 24
- H N-M22 % 1.5| ¢ 50 10 M22 % 1.5 32
| 7 . 1 1 N-M30x1.5| ¢63 13 M30 % 1.5 41
kJ * N-M30x1.5| ¢80 13 M30x 1.5 41
: S—Z N-M40x2.0| ¢ 100 15 M40 % 2.0 57
- N-M48x 2.0| ¢ 125 15 M48 < 2.0 65
I
sw H N-M72x2.0| ¢ 150 20 M72 % 2.0 95




	規格
	理論出力表
	內部構造
	外觀尺寸
	安裝配件
	安裝配件
	安裝配件
	接頭配件

